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PERFSAEN A v —SRETEERBH EBER TEMENRE

¥ & {f 4% id 2,337,500 M
(FEEMIE % 2,125,000 M)
(ErF)
No.| 4 o W E | %= | B % %8 s %8 5 &
I EEE 1 = 2,125,000
il HRE 1 =X
& i (I+1) 2,125,000
M| HEFMMENEE | 10 % 1 = 212,500
w A E (I+ID+m) 2,337,500
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No. % FR ¥E | B = %8 & %8 & &
ZH (=HEFR)

1 [EERFEFEIEFEEH | 1 =X —

2 |HEBEEBREN 1 = _

3 |RBETFHREEBRAN 1 = _

4 |RFEERETEUE)EHFERTEN | 1 =® 1,627,000

5 |TEEEXBERIN 1 2 —

6 |ERREREHEZTEN 1 2 —

7 [MEIEERHEAFER 1 =® —

8 |SEEREXEBERIH 1 =X —

9 |MEREXHEIH 1 = _

10 |EZ M EBETH 1 = _

11 [PCBEHE R 1 o —

12 |[FTRARRMAEZRFEH 1 T 498,000

13 |BREEEMRAERIH 1 =® —

14 |BIEYEMERATRTEN| 1 X -
&t 2,125,000
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